9th Biology / P2

D.A.V. PUBLIC SCHOOL, SECTOR-3, KURUKSHETRA

i)

SUBJECT - Biology
CLASS - IX
Chapter-5 Fundamental Unit of Life

Assertion and reason type questions each question has an assertion followed by
reason. Mark the correct choice.

a) Ifboth assertion and reason are true and reason is correct explanation of assertion.

b) If both assertion and reason are true and reason is not correct explanation of
assertion.

c) Ifassertionis true and reason is false.

d) Ifassertion is wrong but reason is true.

Assertion : Chromosomes carry information about inheritance of characters.
Reason : Chromosomes are visible only at the time of cell division.
Assertion : Mitochondria supply ATP molecule to all parts of cell.

Reason : Mitochondria is called central centre of cell.

Cell organelle which is a seat of ATP production :

a) Ribosomes b) Mitochondria

c¢) Golgi apparatus d) Endoplasmic reticulum
The proteins essential for building the cell membrane are manufactured by:
a) Plasma Membrane b) Vacuole

c¢) Rough endoplasmic reticulum d) Mitochondria

Identify A, B, C,DandE.

Thin thread like entangled mass present in the nucleus is called A. During cell
division, A thickens into B. B is chemically made up of C and D. E is the functional
segment of B.

Identify the following cell organelles:

a) Power House of cell?

b) Waste disposal system of cell?

c) Protein factory of cell?

d) Packaging and dispatching unit of cell?
¢) Control centre of cell?

Who gave the term Golgi apparatus? Name the cell organelle formed by Golgi
apparatus.

What is the function of smooth endoplasmic reticulum in the liver cell of vertebrates?
Define membrane biogenesis.
Which organelle is known as suicidal bags and why?
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9. Write the full form of:

a.ATP b.DNA
10.  Write the function of vacuoles in plant cell.
11. Name 2 organelles that have their own genetic material.
12.  Why are chloroplasts known as kitchens of the cell?
13.  Whatkind of plastids are more common in:

a. Leaves of plant

b. Fruits and flowers

14.a) Explain how do cell walls permit cells of fungi to withstand very dilute external
media without bursting.

b) Explainthe phenomenon of plasmolysis
15. Matchthe columns

ColumnA Column B
1. Permeable a) Plant cell
2. Discovery of cell b) Protoplasm
3. Cellwall c¢) Robert Hooke
4. Mitochondria present in d) Cell wall
5. Chromatin e) Hereditary material

16.  Science quiz
Choose the correct word from those given in brackets.

1. Cell observed by Robert Hooke were. (Living/ Dead)

2. Transport of O, and CO, across plasma membrane takes place by. (Diffusion/
Osmosis)

3. Lysosomes are surrounded by. (Single membrane/ Double membrane)
Blue green algae are. (Eukaryotic/ Prokaryotic)
5. Aplantcell undergoes plasmolysis when. (Hypotonic/ Hypertonic)
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D.A.V PUBLIC SCHOOL, KURUKSHETRA
CLASS-IX
SUBJECT- CHEMISTRY
SUMMER ASSIGNMENT -1
CH- 1 MATTER IN OUR SURROUNDINGS

MCQS : CHOOSE THE CORRECT OPTION FROM THE FOLLOWING
MULTIPLE CHOICE QUESTIONS:

A form of matter has no fixed shape but it has a fixed volume. An example of this form of matter
is

(a) Krypton (b) Kerosene (c) Carbon steel (d) Carbon dioxide
Which of'the following phenomena always results in the cooling effect?
(a) Condensation (b) Evaporation (c) Sublimation (d) Deposition

Seema visited a Natural Gas Compressing unit and found that the gas can be liquefied under
specific conditions of temperature and pressure. While sharing her experience with friends she
got confused. Help her to identify the correct set of conditions.

(a) Low temperature, low pressure (b) High temperature, low pressure

(c) Low temperature, high pressure (d) High temperature, high pressure

The property of flow is unique to fluids. Which one of'the following statements is correct?
(a) Only gases behave like fluids (b) Gases and solids behave like fluids

(c) Gases and liquids behave like fluids (d) Only liquids are fluids

During summer, water kept in an earthen pot becomes cool because of the phenomenon of
(a) diffusion (b) transpiration (c) osmosis (d) evaporation

A few substances are arranged in the increasing order of 'forces of attraction' between their
particles. Which one of the following represents a correct arrangement?

(a) Water, air, wind (b) Air, sugar, oil
(c) Oxygen, water, sugar (d) Salt, juice, air

On converting 25°C, 38°C and 66°C to Kelvin scale, the correct sequence of temperature will
be

(2)298K, 311 Kand 339K (b)298 K, 300K and 338 K
(¢)273K,278 K and 543K (d)298K,310K and 338K
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8. Theboiling point of water at sea level is

(a)0°C (b)273K (c)373K (d)273°C
9. Which of the following has the strongest interparticle forces at room temperature?
(a) Oxygen (b) Water (c) Bromine (d) Iron
10. Which ofthe following conditions is most favourable for converting a gas into a liquid?
(a) High pressure, low temperature (b) Low pressure, low temperature
(c) Low pressure, high temperature (d) High pressure, high temperature
11. CO2 canbeeasily liquified and even solidified because
(a) Ithasweak forces ofattraction
(b) Ithascomparatively more force of attraction than other gases
(c) Ithasmore intermolecular space
(d) Itispresentinatmosphere.
12. Which of'the following has highest kinetic energy?
(a) Particlesoficeat(0°C (b) Particles of waterat0°C
(c) Particles of waterat 100 °C (d) Particles of steamat 100 °C
13. Which of'the following is most suitable for summer?
(a) Cotton (b) Nylon (c) Polyester (d) Silk.
14. The colour of vapours formed on sublimation of iodine solid is
(a) Purple (violet) (b) Colourless (c) Yellow (d) Orange

15. Under which of the following conditions we can boil water at room temperature?

(a) Atlow pressure (b) Athighpressure
(c) Atvery highpressure (d) Atatmospheric pressure
Fillin the blanks:

1. Evaporation ofaliquid at room temperature leadstoa...........ccceeeeevveeennnenn. effect.

2. At room temperature the forces of attraction between the particles of solid substances are
................................. than those which exist in the gaseous state.

3. Thearrangement of particles is less ordered inthe ............ccceeeeeveeenneee. state. However, there is
noorderinthe.........cccceeeveieeennnnnns state.
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................................. is the change of gaseous state directly to solid state without going through

The phenomenon of change of a liquid into the gaseous state at any temperature below its
boiling pointiscalled...........cccceeevvveennneen.

True/ False:-

Boiling is a bulk phenomenon.

Evaporation is a surface phenomenon.

The rate of evaporation depends only on the surface area exposed to the atmosphere.

Latent heat of vaporization is the heat energy required to change 1 kg. of a liquid to gas at
atmospheric pressure at its melting point.

Water at room temperature is a liquid.

Atoms in a liquid are farther apart than the atoms in a gas.
The molecules in a gas are in constant motion..

All materials move from solid to liquid to gas as the temperature increases.
COMPLETE THE CROSSWORD GIVEN BELOW:
Down:

1. Process of changing water to water vapour on heating.
2. Process of changing of a liquid into solid.

3. Physical state of water at 120°C.

Across:

4. Process of changing a solid directly to gaseous state.

5. Process of changing a solid into liquid.

6. Process of changing a gas into liquid on cooling.

7. Slunit of temperature.

PTO
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D.A.V PUBLIC SCHOOL, KURUKSHETRA
CLASS-IX
SUBJECT- CHEMISTRY
SUMMER ASSIGNMENT-2
CH- 1 MATTER IN OUR SURROUNDINGS

Directions: In the following questions, the Assertion (A) and Reason (R) are given. Read both
the statements carefully and choose the correct alternative from the following:

Both Assertion (A) and Reason(R) are correct and Reason (R) is the correct explanation of
Assertion (A).

Assertion (A) and the Reason (R) are correct but Reason (R) is not the correct explanation
of Assertion (A).

Assertion (A) is true but Reason (R) s false.

Assertion (A) is false but the Reason (R) istrue.

Assertion (A): Boiling is abulk phenomena.

Reason (R): It takes place at room temperature.

Assertion (A): In gaseous state particles move randomly in high speed.

Reason (R): The particles of gases have least forces of attraction

Assertion (A): The rate of diffusion of liquids is more than solids.

Reason (R): The intermolecular force of attraction is more in solids than liquids.
Assertion (A): Naphthalene balls disappear with time without leaving any residue.
Reason (R): Naphthalene balls converts from solid to liquid state very quickly.
Assertion (A): During evaporation of liquid the temperature of the liquid remains unaffected.
Reason (R): Kinetic energy of the molecules is directly proportional to temperature.
Assertion (A): On applying pressure, liquids converts into gases.

Reason (R): On applying pressure, intermolecular space decreases.

Assertion (A): The rate of evaporation of water in a plate is higher than that in a cup.
Reason (R): Therate of evaporation decreases with increase in humidity.

Assertion (A): Ice floats on water.

Reason (R): liquids have lower density than solids.

1
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Assertion (A): Gases exert pressure on the walls of the container.

Reason (R): Intermolecular force of attraction is very strong in gases.
Assertion (A): Steam is better than boiling water for heating purposes.

Reason (R): Steam contains more heat in form of latent heat than boiling water.
Q. Designanexperiment to explain the process of sublimation.

Draw labeled diagram also

PARAGRAPH BASED QUESTION:

Question.

Mohan was asked by his teacher to determine the boiling point of a liquid. He set up the
apparatus as shown in the figure. He recorded the boiling point of the liquid as 140°C and
reported the reading to his teacher. The teacher asked him to repeat the experiment after
dipping the bulb of the thermometer in the liquid and also placing the beaker on a tripod stand
covered with a wire gauze. After reading this narration, answer the following questions

l}' T ___ Thermometer

Stirrer

Boiling water
Stand — v

Define boiling point of liquid.
Whatis latent heat of vaporization?

Boiling point of water in K elvin scale is

(a)237K (b)273K (c)373K (d)337K

What are the precaution suggested by the teacher to Mohan to get the correct reading ?



D.A.V Public School, Kurukshetra
Class- IX
Subject- Chemistry
Summer Assignment-3
Ch-1 Matter in Our Surroundings

ANSWER THE FOLLOWING QUESTION:-

1.
i)
1)
i)
1v)

3.

4.

5.
i
i)

. a)

i)
1)

0.

i)

1)
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Define the following terms:

Melting point

Boiling Point

Latent heat of fusion

Latent heat of vaporisation

Differentiate between evaporation and boiling.

Convert the following temperatures on Celsius scale:

1) 282 K i1) 337 K
Convert the following temperatures on Kelvin scale
i)37°C ii) 100° C

Give reasons for the following statements:

Gases are compressible but not liquids.

Gases exert pressure on the walls of container in which they are kept.

What are the factors on which rate of evaporation depends? Explain with example.
What are the characteristics of particles of matter?

Arrange the chalk, milk and oxygen in order of:

Increasing intermolecular space

Increasing intermolecular force.

b) What is dry ice? Why is it so called?

Answer the followings:

Why do we see water droplets on the outer surface of a glass containing ice cold water?
Why is the ice at 273 k more effective in cooling than water at the same temperature?
a) What are three states of matter?

b) Show with the help of diagram the interconversion of different states of matter.

c) Distinguish between three states of matter on basis of

(1) Shape, size and volume.

(i) Rate of diffusion

(ii1) Compressibility



9th Geography P6
D.A.V PUBLIC SCHOOL, SECTOR-3, KURUKSHETRA
Class - IX
Geography Assignment Chapter 1 & 2
Chapter - 1 ( India Size and Location)

Note; Attempt all questions answers;

Choose the correct option;

0-

1-

V ghbg nesgdenkanv mf bnt nsgdr cndr nnsrg od ™ K nt angedqv fsg Hhch >

@ RK nj A-Ojhsm B-A nfKcdrg C-Mdo™ k
SgdK gt chm kdwsdnsneHich hmct dnbdr

@Rt ngrd " nt rt nrds A-c X nt nfgs

B-Rd rnnr C-mminesyd " anud

V ghbg hr sgdK of drsrs sdnehich hmsgd ™ o >

@ Ts gQq cdrg A-L g qgrgyg B-Qirgm C-L "cgx Qgcdrg
Sgdbn rsknd " kanf sgdl K nt neHch b "ant s

@-50// j Hal dsd A-64//0/j1 B-60// jHal dsg C-540/ j Hal dsodr-

Filling the blanks

0/ -

sggdrnt sgdgr nrsK gt cdnesgd Hich ml ™ K ne hmedf oddr -
............................. rdo g snf RhK' m ~ egpl  Hich -

............................. Bnl | nchédr v dgds j dmeonl Hich snu gntr o g nesgdv nde-
Hinv ghbg xd" qce Hichg' Onnsrt al dof de t nedqv " sdgct dsnsgdSrtm | b

Hinv ghbg xd” qcndr sgdRv brr B™ m knodne

Hnsgd pt drsmnt fludmadikaov+sgdgd "od svn Rs«dl dnsr | "gdc “r @ rdggnm' @ "t
Qd rnm Q(-Qd cxgdRs sl dner * nt Bgnnrd sgd bngogbsnosmn®NosmnT ™ gd9

"@Ang' @ nmt'Q( gdst dnt ' Q( hr sgd bnepdbsdwok m smmne’ @X-
"A(Angy' @ "t Q( s dat s' Q(hr mssgd bnapdbsdwokK m dnmne’ @(-

'B(" @ r bngdbsat s' Q(hr v opnf -

"C("@hr v.opnt at s' Q(hr bnapbs-

@rrdgsgmm' @9Hch Rg odr lsr Knt antnt gdr visg O jhrs m nt @ef g mrs mhmsgd
meopgV drs-

Qd rnm' Q(9Bghm +ShadsHVido k™ nt Agt s mmsgdRntsg 'ne L x m g nt A nfK cdrg

msgdV drs-
1
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9th Geography P6
@rrdggmm @9Enl Fti gssn@i mbg kO cdrg+gdedhr ™ s dK f nenndgnt ¢
Qd rnm'Q(9 Gdnbd+s1 d “kanf sgd Rs'nt ¢ L dgth mne Hhch '71/2/ $( o rrimf
gntfg Ly otq'mTs gOgcdrg( ir sjdm r sgd Rsnt ¢ H d eng gd V gnid
Bnt nsox-
V gtbg ked rnedieh bnt ke o bg sgdv nge>
V ghbg sv n vk nt bnt nsgrdr * od Hch' § ndif gant o>
L dnsmmsgd sxodr ners sdr hmhich ocdr dnsadencd 0836-
Vg vghog bntnsox 1’11t "nt Jrgl FQtma+Q i'rsgm 'nt Ftigs rg oo
Hirsdgm smm kant et ox>
M| dsgdrs sdr sgont fg v ghbg sgd SonotbneB™ nbdqo ™ rrdr-

3and 5 marks questions, don't attempt those question which

you have already done in your notebook ;

06-
07-
08-

1/ -

V g’ shr gdkanf hst chm k' nt K g8t chm kawsdnsneHch >cdrbdadier H okb™ snnr-
V g shrgdrs nt” ¢ L dgch mnehich >V gx g r lsaddnrn rdkdbsde >

Gnv ctt Hich'§ Knt "nc L e d bnns bsr v sy sgd v nge bnnsgatsd e sgecd e
bt kst op>DwokK hm

Dwok msgdH oncs” nbd neHirch § knb™ smmnmsgd f knad-

Chapter- 2 (Physical features of India)
Filling the blanks

Rl "K' | rnedudg+v ghbg inhmsgd I~ hmdrudg adb Kde ...
............................. sns kidnfsgneGH "K x™ >

............................. svnl "ingchulrmnr neBdnsg kghf gK ne-
............................. H sgd nmkx dudghmsgd Hieh medrdegneQ i rsg” ne
............................. ggdgH gdrsod’j ned rdgnF g s

@ rdsmm@9Hhch b ™ K nt nef o sfdnf g oghb” ku™ gdsx-

Qd rnmQ(Bgd kiesx L nt ns hr+sgd F od” shich medrdestsgd mosgdgmok mr+sgd t ndudm
ok sd't rdquiod " nt sgdbn™rs™ nt irk necr ogdrdns ™ chudgrtsx nek ntend r-

“(Ang@ nt Q gdst d nt Qhr sgd bnapdbsdwok m smmne@-
‘a(Angg @ nt Q gdst dat sQ hr mssgd bnapdbsdwoK m smmne@-
'‘b(@hr sf dat sQhr e kd-

‘c(@hre kdatsQhr st d
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@rrdgsmm @(9 @k uh kedonrbsr ~od udox @ nd rnhe ant f gsax dudg ~ nt cdonrtsdc hmsgd
dudga” rhn-

Qd" rnmQ(9Sgd megydgmhireh moK it kkinf snsgd Rnt sgnesgdGH "K X' r “gdend  dc ax
sgd " K& uh kedonrher K ft cnv max sgd dudor -

“(Ang@ nt Q gdsat dnt Qhr sgd bnapdbsdwok m snmne@-
‘a(Angg @ nt Q gdg dat sQhr rnssyd bnaobsdwok m smmne@-
'‘b(@hr sx dat sQhre kd-

'‘c(@hre kdatsQhrxxd

Eonl v ghbg sxodneantnt” ogxv dgdGH "Kx rend dc>

L dnsmm nxnnded” & gd nevheggdgmOK I neHireh -

Gnv "qdGH "bg kbnl onrdc ne>

M| dsgde | ntru Kdxrentnt hmegdGH "bg kGH "K X' r-

M| dsgdsgeddoonl hmdnsrt a g nfdr nesgdGH "bg kGH "K x'r-
V g shrsgd "udg f dgdhf gsnesgd Rghu™ Kj >

L dnsmmsgdgdifgs ntviesgneGH by k

V g scnxnt tnedgs ntax Ct ndr>F tuddw | oldr-

V g shrggdknb” smmesgd Ot qu” nbg™ k>

M| dsgdl “ingdudgrxrsdl r nesgd masgdgmok -

Gnv “qdduddgndhrk nerend de>Fhud mdw | old-

L dnsmmsgd dwsdnsne MnagsgdgmCK mr neHich -

Dwok hmsgdsdd chrsgat s ox-

V ghbg rdbsmmneMhosgdgmOK mr “adenl hm sdc axsgden™ar>

L dnsmmsgd chulrmmne MnoggdgmOK nr nmsgda rir necplkdeed” st or -
V gedsgded st cdrned g ¢ op

Fhudsv nagn ¢ chulrimnr nesgd odnimrt K qoK d' t -

M| dsgdgHfgdrsod j nesgdV drsdgmF g s

M | dsgdsgedd chutrtnnr nesgdV drsdgmBn ' rs” kok hm

V g sv rggdd dedgm| dneK'jrg cv ddo>

V ghbghrk ne msgd K’ jrg cvddoHK ne fontog ' r ~ ale rnbst ™ gx>
M| dsggdhrkne fontov ghbg g™ r ™ m bsudunkb™ mn-

V ghbg r sydmesgdgt nrsq nfdnesgdGH K x' r>

3
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V ghbg hr sgdrnt sgdgr nrsg nfdnesgdGH "K x" r>

Choose the correct option

21-

22-

217-

V ghbg hr gdghf gdrsod™ j neHhch >

@-L nt nsDudcdrs A-J “nbgdnit nf"

B-1 "j tk C-cg tKfhn

Sgdnkcdrsl ntns hmg nf dhmbch r

@@ ns qnfd A-J gjngl gnfd

B-@q u KhQ nfd C-L ‘gag gqsgnfd

V ghbgo ggnesgdGH "Kx ' radl “hrodd ~minsk t nedgrmy >

@GH "bg k A-J gjnql B-GH “cch C-Oqu nbg k
V ghbg o gsnesgdGH K x” r Kdr adsv ddmsgd Sddrs™ " nt sgd Chg™ nf dudar>

@ Mdo kGH "Kx'r A-GH "bg kGH "Kx'r

B-Adnf 'kGH "Kx'r C-@r’l GH "Kx'r

Vg shrgdsns kntl adgnesgd | “ingoK sdr nmd gsg ~bbnaechnf sn sgd sgdnagx ne oK sd
sdbsnnibr>

@4 A-6 B-5 C-8

V g shrgdkab km | dfhudmsn sgdrnt sgdgmo™ gsnesgdV drsdgmBn' rs' koK e
@L Kaq A-Bnonl “nedk B-Bg'l a'k C-Jnm m
V ghbg nesgdenkav mf g nfdr " cqdmmso” gsnesgdkdrrdgGH “K x" rngGH “bg™ k>
@L 'gagqgs A-jl ds B-cg'tKcg' q C-OgOm k

3and 5 marks questions

28-
3/ -
30-
31-
32-
33-
34-
35-
36-
37-

Rs' sd sgd cheedodnbdr adsv ddmGH " cohg nfd ™ nt Rghu™ Kj Q" nf d-

Cdrbdadsgded &t cdr neGH "K x'r-

Gnv "qdgdGH "Kx'r churede hmsgdd' rs, v drschygdbsmnmy

Vg's dsgdl “hmed s gdr nerghu™ Kj r>

V gsd antssgdl “hmed st qdr neGH “bg k

Chrdnft rgadsv ddmBdnsg kGH gK ner " nt Cdbb™ mOK sd't -

Dwok hmsgded” st adr nesgd Cdbb mOK sd' t -

Cdrbgadsgded s cdr nesgd Hhch medrdos-

Cheedednsh sdadsv ddmsgd K j rg” cv ddo HIK ner " ne sgd@ne ™ |~ mvibna™ gHiK ner -

C heedgdnsh sdadsv ddmsgd V drsdgmBn™ rs koK m ne d” rsdgmbn™ rs’ koK hm
4
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38- v ghbg fopt o nerk ner b knb” sdc msgd @g ah mrd™ >V dsd " nx ent ged” s odr ne sgdrd
HK ntr>

4/ - Cheedednsh sdadsv ddmV drsdgmF g s nt D rsdgmF g™ -

40- ID bg ogxrmf q oghb qof mmnekbch bnl okl dner nsgdagr "t |~ j dr sgd bnt nsox grbgdgm
rer m st g kedrnt dodr!-DwoK hmsgdrs sdl disv lsg dw | okdr -

Label and locate all the items on the political map of India.
Bg osdg, 09Hth , Ryd " nt Knb™ snm

Hrch ,Rs' sdr visg B ols k+ Sonotb ne B nbdgr Rs nt” ¢ L dgth m 'Knb smm "t
K" adkdnf (

Bg oxdq, 190gxrth” kEd™ & odr neHich

L ntns MQ nfdr9SgdJ "gjngl +SgdY rjdatSgdRghu” Kj +Sgd@q u” kSgdUmtgx” +
SgdR st g + drsdqm? D redgmF g™ &

Lntns mQdjr,J 1+ "nbg mitnf #@mhL tch

OK«d't,Cdbb mOksd'tHBgns M fotqOKsd tH kv OKsd't

Bnirs kOKhm , Jnnp 'mrL "Ka g-Bnonl "tk % Mhasgdgm Bith' g ' Knb' dnm "t
K" adkdnf (

Label and locate all the items on the French physical map.

Bg 0sdg 09Sgd Ecdnbg Qdunk smmNt sknd Onketh kL "0 ne Eq nbd ' Eng knb” smf " nt
K adkdnf . Hdnst b” smin{

~ Aned'tw
M nsdr
Odr

L “gdtkdr
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9th His & Civics / P4

D.A.V PUBLIC SCHOOL, SECTOR-3, KURUKSHETRA

SUBJECT - His. & Civics
Class - IX
Chapter - 1 ( French Revolution)

Note : Attemptall questionsanswers;

MCQs

0- Nm gd brx ne Ogr v'r m™ rsd ne 'Kd -Sgd jmf g'c
bnl 1 “nedc sonnor snl nud msn sgd blex-
@ 041t k« 0668 A-031t k0668 B-041tk«0678  C-031tk 0678

1- Rnl d6+// | dm nt vnl dmf sgdgdc megnns ne sgd snv mg™ K<™ nt cdblede snend
............................. >
@- Qdnold§ o™ osx A-Cdnoldr8  Hsh
B-Qdnoldr cdl nbg bx C-Cdnoldr ocdrdnid

2- Em Kx+ font o nerdudg kgt ntode odnokd I “dogde snv " aer sgd . 0

ne sgd brex "nt rsnd dc sgd encgodrr, ogrnmsgd A raid+v gdad sgadx gnode sn @ ne
gn cde 1 1t nsmne

@ D rgdgm A-Mnoydgm B-V drdgm C-Rnt sgdgm
3- V gxv rsgdencgdrr, ogrnmisgd A rekd+g” sdec ax ” Ke
@ Hrsnc enggdcdrongbonv dgnesgdj mf-  A-Adb t rdnechs sngrgto

B-@jrsnbq bx C-Mnminesgdrd

4- V g sv rggdl “hmoosdrsax sgd odnokd>
@ Odbdneacd ¢ A-Adg umgnesgdj mf
B-Onudosx nesgd odnold C-GHhgs wdr

5- Vg sv rggdml dnesgd rrdl akv gtbgv "r b Kdc hmEqg nbd m0681>
6- Vogxv rggd A rdkdg sdc ax  Ke

7- M| dsgd"t sgng nesgdrdenkav mf annj r-
"(Sgd Rnbh kBnnsq bs
'"M(SgdRotgsneK v r

8- V g sv rFtHadm>

0/ - V gnv dgd & nr, Bt kosdr &
00- V gnbnt kc pt " Kex " r " mDidbsnog>
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V g sv rdawd>
Sgdsh nft K grkudv " r gdkc adsv ddmv ghbg sgedd bnnsmans: >
Hnsgd pt drsmnr fludmadkov +sgded "od svn Rs'«dl dner | "g de “r @rdggnm' @( " nt
Qd rnm Q(-Qd ¢ sydRs sdl dnw * nt Bgnnrd sgd bnggabsnosmn®Nosmnr ™ g9
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Subject- Political Science

( Chapter - What is Democracy? Why Democracy?)

Multiple choice questions
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